Maths - 06.01.21

Today we are going to refresh our knowledge on subtraction. Remember to steal from the neighbour if the number you are subtracting from (the top number) is smaller than the number you are subtracting (the bottom number). Choose from A, B or C, C is the hardest. Then complete at least 2 challenge questions.
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Challenges
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Copy and complete. Copy and complete.
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@ There are 5620 geese
in a river. 4573 fly off.
How many are left?

@ Len has £8164.
He spends £1926.
How much does he
have left?

@ Raina has £94 037 in

her savings account.
She takes out £14 749.
How much is left in the
account?

@ A supermarket chain

employs 35194 people
full time and 18758
people part time. How
many more employees
are full time than part
time?

c

Set out as in the example.
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© 374806 - 209877
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@ During their relegation
season a Premiership
club has a total of
613527 spectators
at their home games.
In the next season
attendances fall by
164 849. How many
spectators attend home
matches in the second
season?

Q A company makes
761409 jars of jam
and 568 705 jars of

marmalade. How many
fewer jars of marmalade
than jam are made?
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Rosie completes this subtraction incorrectly.
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Explain the mistake to Rosie and correct it for her.
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Complete the pyramid using addition and subtraction. A
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A milkman has 250 bottles of milk.

He collects another 160 from the dairy, and delivers
375 during the day.

How many does he have left?

My method: A
00 375 — 250 = 125
N
Tommy 125 + 160 = 285 )

Do you agree with Tommy?
Explain why.




